DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 4)

DIVISION WITH -10 TO 10 Name:
Time: Score: y—
391 —1476 + 5 = 106) 31619 7 =
92 37.04 = (—4) = ) 890.4 = 3 =
393) 56190 = 6 = 08)  —44420 = 5 =

04 37510 + (—10) =
39) —2346.4 +4 =
396 667.44 +9 =

97 8361 + (—10) =
308) —385.04 +8 =
399) —4688.8 + 8 =
100 876.6 + 3 =

w01 59370 =6 =

102) 1648.5 +5 =

103 —256.2 +2 =

019 61000 + (—10) =

105 2202.6 -6 =

Mathematics: Division - Level 6 - Horizontal - Set 4
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6470.4 = (—8) =
1563.6 + 3 =
—362.44 + 4 =
—480.96 + 6 =
1210 + 2 =
82053 + 9 =
3959.5 + 5 =
1495.6 + 4 =
—1566 = 6 =
—121.84 + 8 =
63.94 =1 =

—475.38 = (—6)
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